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SPSS calculates a t-statistic for
the difference between the means,
and it uses the t-statistic to
calculate the P-value.

Here are the statistics from the
confidence-interval analysis: The mean
difference (−.37) and the 95% CI
of the difference (−1.11 to .37).

Figure 6-6  Testing for Statistical Significance

Click in the Test Value box and type “52.”

Figure 6-5  Testing a Hypothetical Claim about a Sample Mean

the interval’s lower and upper limits. In fact, the “greater than .05 interval” would be a more descriptive term 
for the 95% CI. A more precise inferential method, the P-value approach, allows the researcher to determine the 
exact probability associated with a hypothetical claim about the population mean. For example, our confidence 
interval analysis of the hypothetical population mean of 52 revealed that a random sample would yield such 
a result more than 5 times out of 100. But how many times, exactly? Six times? Twenty-six times? Thirty-six 
times? Put differently, we know that the probability is greater than .05 that 51.63 and 52 come from the same 
distribution of population means. What, precisely, is that probability? Run One-Sample T Test on ftgr_gay again 
to determine the P-value associated with the hypothetical mean of 52. Click Analyze  Compare Means  One-
Sample T Test. Ftgr_gay should still be in the Test Variable(s) panel. Now click in the Test Value box and type 
“52” (Figure 6-5). SPSS will calculate the difference between the mean of the test variable, ftgr_gay, and the test 
value, 52. SPSS will then report the probability that the test value, 52, could have come from the same population 
as did the mean of the test variable, ftgr_gay. Click OK. Again, we have One-Sample T Test output (Figure 6-6).

Notice that the numbers from our earlier analysis appear in the “Mean Difference” column and “95% 
Confidence Interval of the Difference” column. Now, however, we are after the exact probability that 51.63 and 
52 reside in the same distribution of possible population means. To address this inferential issue, SPSS calculates 
a Student’s t-test statistic, or t-ratio. A t-statistic is calculated using this formula:

t = (Sample mean – Hypothetical population mean) / (Standard error of the sample mean).

This value of t, –.99, appears in the leftmost cell of the One-Sample Test table.2 Thus, ftgr_gay’s mean falls 
.99 standard errors below the hypothetical mean of 52. Turn your attention to the cell labeled “Sig. (2-tailed),” 


